Inverse Functions |
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1 f(x)=2x+9 9(x) =vx _3 h(x) = X3+ 4 @

(@) Find f1(x)

Y= 1+ 9
1:15f°l
L’ﬁ=15

(b) Find g'1(x)

§=Jxz
2= g3
Iz:d—l

(c) Find h(31)

=+ &
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xX—“A

==y
-1
fi(x) = y
X+ 3=y
g1(x) = x>+ %
Yoo = Y
WG = 3 x4
WD = 32
3

(Total for Question 1 is 6 marks)
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2 f()= 243 ax) =x2—6 @

(@) Find f(x)
3:. Qo+ > L’(x'zl:j"'l l'b(.'l:ﬁ

"
hx-3=
x= ?_3-&3 * 23 -3

U f1(x) = 2

(b) Find g(x)

y=x-b e =y

x =y~-b

X+ 6 :dl gl = ‘] L 2

(2)

(Total for Question 2 is 4 marks)

3 f(x)=50-x2 g(x) =4x2 -1 @

(@) Find (1)

82’:- CO -x

3: \ISO-I.
so {'(D={s0- 1

\- Lt - x+\
e AN

Xt =y glo)= fob P
Z

)

(Total for Question 3 is 4 marks)
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4 fo=2 g00=% -3 @

(@) Find f(x)

=L Sk g B

Sty
xX= E.ﬂf' T =
- &

S f1(x) = 3
(b) Find g(x) @)
3: x -3 X+ =9

o ¢
x=9 -3  thua)=y

% s0= {2+ 3)

(2)

(Total for Question 4 is 4 marks)

5 f(x)=3Y100—x g(x) = 2(x + 14) @

(a) Find f1(4)
jzs\l 100 -5 2 *4 =100
=30y Y =100 - x>

1’ = 100 -y f‘('-0= 00 -

(b) Find g1(26)

Yz 20+r4) Z-ly=Yy

x=2Ayrle)  gl2e) = 25 -k

L - y+lk —
F= Y \

(@)
(Total for Question 5 is 4 marks)
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. 909 =V 3 @

(@) Find f1(x)

6 f(x) =

Y- :(ilo x4 ) =5

- S
5 Y10 =%
x= >
+10 == -0 S _
b 3 > f1(x) x \ O
2
(b) Find g(x) -

J_, ,’ :_ LL+2:263 &:$IIL‘|’3
12 3—3 1_1'4'3: > 2 ‘

— 3) = =
ZU 3 z 0= N__ 2

(2)

(Total for Question 6 is 4 marks)

7 f=3-2 90 = (x - 5)° @

(@) Find f1(2.5)

(b) Find g1(-27)

3 (x S 3\,-1--\'5 = 3
x=(Y- S) g ()= 2w + S
>y 8

)

(Total for Question 7 is 4 marks)
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3 9(x) = V3x h(x) = 2x+ 1 @

(@) Find f1(x)

3-.1@_%_ x(g«l} :‘—8-}‘-\— 4= b +32xc

—_—

x-3 1&v2x= 3_',‘_\, X\

x= gyt 1y -9 = W+l
Yy-3 q (- =4+ B

8 f(x) =

4+
f1(x) = x-\
_— 3)
(b) Find g1(9)
- L-
NI A
A= VY
=3y 97" X -

(c) Find (gh)*(x)

gh) = J (2 41 x=\by+2

3h(x\-Jex+3 X = by 2
xX-3=6
(9h'6d) = Jex+2 -2 -_3
Y= J6x+1 b
=3

(a0 = G
ﬂ ()
(Total for Question 8 is 9 marks)
5

www.1lstclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5

